IX—M (B
1200 JX=S (£93y 7%
JX—B (Faz)

\ BEHEA N 7R

| XH=RGE (- P - 5)
) : mE@TE | 280
NALLY KBAE 1500cc (®A 1900c)
2EHSE | 280 m°/h
BELSE | 280 m°/h
HAKEE | BWAA:3.49 kW (3,000 keal/h
R LP7A: 3.49 kKW (0.25kg,/h)
] ABEH 3.81 kW
S Bl = BANE 160 Pa
I 00 HEED 4W  (ACTOOV)
o KE WEAZSHE e E
B I B
57 b ENFEE
ERULETF ACTOOVav oy b
|

| JX—=CV (&ZEIVD)
BN 7HI

KHZBRNE (F- P - 33)
380 i = BTk 280
‘ KK & 1500cc (&4 1900cc
‘ | ( ‘ ( DEHSE 300 m?/h
% jm(ﬂy@ﬁ DBHAE 300 m*/h
i | | HAEBE | BWHA: 3.84 kW (3,300 keal/h)
\ / ~ \ / LP#H A : 3.84 kW (0.27kg/h)
\ / \Q\ | /;/ HEEH 4.12 kW
} L 7 } il (I —Y L8 8/T 180 Pg
3 25 N E— < SEHBED T6W (AC100W
VD | | N | —) \ \
\\\\\\\\\\\ ey i : \ : ZLLE R
b ] PR IEEE
) [ ) ~ - 00 5 R E
D = h - ~< ©
O , e
\ JR—
S | ™o =
;\ FLS e = my
Sl g
- FL |
—
/ o
] ] Re1/2 [HAPE Ty 712D T]
¢ 150 = . BEAKICEETI RO TR O,
! AV - S N
o= E/AIN (FBE T 4300 BT L7z T< a0y,
SREMA450 /DC (85 (Eas <
700
|
| 275(257| 412145 | 715 —
- _ JX=T14 B
260 | 242 | 397 |30 | 700 = E— tED g
A = - 3 - B R IE7s & -
&S = T %[ JIKTL |3 =A% |(RE|F 8 (1
%fg;ﬁ77;j w | 050k  3WF[005 01 | — < ree (¥ftmm)
EXESMEEIN) | B [ 3u 64T 0.05 0.1 |02 &g s
NVAAYAY, 0.8Z i 6n1  308TF|0.1]02|05 =B Bl RXW SOOW 7K
VAAY) 67| 7 3090 1208F) 0.15 0.3 | 0.8 | o
YAV 187 % 12071 315MF| 0.2 | 0.5 | 1.2 R
507 [(ram)|_31571 10004F| 0.3 [ 0.8 | 2 - Lo S e NN
TENG -8By | RTE2 |F B OBY A Y N ELRERREE: BRI $HI-AL-vay




